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=fie.

BRER
7. EMAABCHyEREZR = /3, B#E ZR(sinA —sin?C) = (¢ —b)sin B, R
AABC BRI KA.

007 » -




F rerrurssInsm. 285
1.2 REZEEE(ZD)
= (ammst)

OREEEHTHEA=ZARP =L F S ZAMNX R, AR EENEHTEE=AKH =
BEHFZEOXRE MAEFIENEEZ RANKER?

;glwamml

N B ATRHR¥YRBBZONE ABCDWAKMEMR, LR FHFEN—4& 0,15
OA =40m, OB =37Tm, OC=42m, OD = 44m, B L DOA = 120°,
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+728. 84672, 94910, 023 074(m?).
QRGN ABCD () FK R 228 m , HA A 3074 m?.

[CAPEETTY
. MSIRE ’

1. .
(1) EAABCHI, AB =5, AC =17, BC = 8, IJAB - BCEF « )
(A) 10 (B) —20 (C) 20 (D)—12
(2) BEHl&=asinC, c = acos B, M| AABC —E & ( )
(A) FE=AK (B) Efm=A%k
(C) Far =Mk (D) ¥BEA=AK
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